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Test 1 (A)

Question 1. (5 marks) Assume the following matrices in row-echelon form are augmented matri-
ces for systems of equations. Without reducing any further solve the corresponding systems.
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Question 2. (10 marks) Solve the following system of equations:

3xs + bxy = 3
X1+ 3x - 3n + 2y =1
—2x — 3x 4 61 + 2y = 1
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Question 3. (10 marks) Given:

0 3 2 4
A:{g “11]3={_01 Hc: -1 -1 |D=}| 0 2
2 2 —6 2

Computing the following where possible. If not possible indicate so.
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Question 4. (10 marks) Find A given:
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Question 5. (5 marks) Given n X n invertable matrices A B, and C and scalar k state whether the
following statements are always true (T) or not (F).
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Question 6. (10 marks) Given:

1 0 3 1 0 3 1 0 3
A=12 2 -4 B=]1 1 =2 C=|2 2 -4
5 -2 1 5 -2 1 3 -2 -5

Find Elementary matrices E, Ey, E3 such that:
a) EIA = B.
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¢) E3C = A. Without multiplying state the result of EyE3.
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Question 7. (10 marks)
Find A~ (if possible) given:

1 1 0
A=] 2 3 -2
-1 0 —-1

Bonus: (I marks) Recommend an interesting item that you would not leave without when going
on a long backpacking trip. Remember, space in your bag is an issue. If time permits, explain your

ansSwer.



